Т 20/1. Упражнения
Аушев – 1 вариант
Безбородов – 2 вариант
Билионидис  – 1 вариант 
Веркин  – 2 вариант
Димитриадис – 1 вариант
Калинин – 2 вариант
Карпенко – 1 вариант
Кирюхин – 2 вариант
Кюржиев  – 1 вариант
Лахмотов – 2 вариант
Лобанкин  – 1 вариант
Луценко – 2 вариант
Мамои – 1 вариант
Мигузов  – 2 вариант
Мовсисян – 1 вариант
Мурджикнели – 2 вариант
Насимов  – 1 вариант
Пивоваров  – 2 вариант
Примаков – 1 вариант
Сочилин  – 2 вариант
Стукалов – 1 вариант
Сулименко  – 2 вариант
Тедеев  – 1 вариант 
Фоменко  – 2 вариант
Цомаев – 1 вариант
Яковина – 2 вариант
[bookmark: _GoBack]Авакянц– 1 вариант
Гриднев - 2 вариант


